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 1. Facts relating to marthanda Varma 

 i. during marthanda Varma’s period, the Pillamar the matampimar had established 

them as a powerful force the public life of the State and they were supported by the 

yogakkar.

 ii. Poets like Ramapurathu Warrier and Kunjan Nambiar came to adorn the Court. 

 iii. The classification of the land under the main heads of the Devasam, Brahmasam, 

danam and Pandaramvaka was introduced by mallan Sankaran.

 iv. A group of villages constituted the mandapathumvatukkal which was underlay karyakar 

who was protype of the modern Tahsildar. 

 A) i, ii, iii are correct    B) i, ii, iii, iv are correct 

 C) iii and iv are correct    d) i and ii are correct 

 2. Facts relating to dutch in Kerala 

 i. In 1643, fresh treaties concluded between the dutch on the one side and the Rajas 

of Purakkad and Kayamkulam on the other.

 ii. The Cochin Raja accepted dutch Suzerainty and undertook to deliver to the dutch 

all the cinnamon and pepper produced in his country.

 iii. The religious policy of the dutch was liberal and tolerant unlike that of the Portuguese. 

 iv. The Governor General in Council at Goa was in over-all charge of the dutch territories 

in the East. 

 A) i and ii are correct    B) ii, iii, iv are correct 

 C) i, ii, iii are correct    d) iii and iv are correct 

 3. Facts about integration of Kerala 

 i. The Payannur Political Conference held in may 1928 under the Presidency of 

Jawaharlal Nehru passed a resolutions constitute Kerala a separate province. 

 ii. The Aikya Kerala Conference held at Trichur in April 1947 under the Presidentship of 

K. Kelappan attended the reigning maharaja of Cochin Sri Kerala Varma and spoke 

himself in favour of the establishment of a United Kerala State comprising of British 

malabar, Cochin and Travancore. 

 iii. Integration of Travancore, Cochin held on July 1st, 1949.

 iv. Under the State’s Reorganization Act 1956, the four Southern Taluks of Travancore, 

Tovala, Agatiswaram, Kalkulam and Vilavancode included the Kerala State. 

 A) i, ii, iii are correct    B) iii and iv are correct 

 C) i and iv are correct    d) ii and iii are correct 
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 1. oL¡¾L¼v¡ÚpOoLp] mÌRÕŸ vñOfW¥.

 i. oL¡¾L¼v¡ÚpORa WLsR¾ ^j^}v]f¾]¤ k]çoLqOU oLaÒ]oLqOU AvRq 
yUòLj¾]R£ KqO vs]p w©]pLp] òLk]\ÿO. SpLY¨L¡ Av¡¨V k]ÍOepOU 
j¤W].

 ii. qLokOq¾O vLq|¡, WOµ¢ jÒ|L¡ fOa°]p Wv]W¥ RWLŸLqU AsËq]¨L¢   
I¾]. 

 iii. ShvyU, NmùyU, hLjU, kºLqUvW IÐ} NkiLj fs°¥¨V W}u]sOç nPo]pORa  
 v¡«}WqeU osæ¢ wËqjLeV Avfq]Õ]\ÿfV.

 iv.  KqO WPŸU NYLo°¥ S\¡ÐV  o¼k¾OUvLfO¨¤ qPk}Wq]\ÿO. CfV CÐR¾   
fzy]¤hLqORa òLjoOç WLq|¨LqORa W}u]sLp]qOÐO.

 A) i, ii, iii wq]pLeV   B) i, ii, iii, iv wq]pLeV 

 C) iii, iv wq]pLeV   d) i, ii wq]pLeV 

 2. SWqt¾]Rs c\ÿOWLqOoLp] mÌRÕŸ vñOfW¥. 
 i.  1643&¤ KqO vw¾V c\ÿOWLqOU orOvw¾V kOr¨LaV qL^L¨ÓLqOU WLpUWOtU   

qL^L¨ÓLqOU fÚ]sOç kOf]p DaÒa]W¥ AvyLj]\ÿO.
 ii. RWL\ÿ] qL^LvV c\ÿV nqeU y~}Wq]¨OWpOU fR£ qL^|¾V D¤ÕLh]Õ]¨OÐ WrOvÕŸpOU 

WOqOoOtWOU c\ÿOWLRq J¤Õ]¨OWpOU R\pÅO.
 iii. c\ÿOWLqORa ofjpU SkL¡\ÿOY}yOWLqORaf]¤ j]ÐOU DhLqoLpfOU yz]xVeOfpOU 

DçfLp]qOÐO. 
 iv. SYLvp]Rs Yv¡e¡ ^jr¤ C¢ WT¦y]¤ W]u¨¢ c\ÿV NkShw°tORa oOuOv¢ 
   \OofspOU vz]\ÿ]qOÐO.

 A) i, ii wq]pLeV    B) ii, iii, iv wq]pLeV 
 C) i, ii, iii wq]pLeV    d) iii, iv wq]pLeV

 3. SWqt¾]R£ yUSpL^jR¾¨Or]\ÿOç vñOfW¥. 
 i. 1928 Rop]¤ ^vz¡sL¤ RjzVrOv]R£ Ai|ƒfp]¤ jaÐ káÐPq]Rs qLNì}p  

ySÚtjU SWqt NkSf|W Nkv]w| qPk}Wq]¨LjOç NkSopU kLyL¨]. 
 ii. RW. SWtÕR£ AÈ|ƒfp]¤ 1947&JNk]s]¤ Na]\ÿPq]¤ jaÐ RIW|SWqt ySÚtjU 

RWL\ÿ] ozLqL^LvV è}. SWqtv¡ÚRp yÎ¡w]\ÿV Nm]Ÿ}xV osmL¡, RWL\ÿ], f]qOv]
fLUWP¡ IÐ]v D¥RÕaOÐ RIW|SWqt yUòLjU òLk]¨OÐf]jV AjOWPsoLp] 
yUyLq]\ÿO. 

 iii. 1949 ^PRRs 1&jV f]qOv]fLUWP¡, RWL\ÿ] yUSpL^jU jaÐO.
 iv. 1956&Rs yUòLj kOj:yUZaj j]poNkWLqU f]qOv]fLUWPr]Rs jLsV Rf¨¢ 

fLsP¨OWtLp SfLvt, AYf}w~qU, W¤¨OtU, v]tv¢SWLaV IÐ]v SWqt yUòLjU 
D¥RÕaO¾]. 

 A) i, ii, iii wq]pLeV    B) iii, iv wq]pLeV
 C) i, iv wq]pLeV   d) ii, iii wq]pLeV
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4. Facts relating to mughal administration of the medieval  period. 

i. The first time in Indo-Islamic literature the Ain-i-Akbari expounds the principles of 

taxation. 

ii. Akbar’s ministry comprised four members. Wakil (Prime minister), Wazir (Finance 

minister), mir Bakshi (minister In-charge of Army and Administrations), Sadr-us-Sudur 

(In-charge of Religion and Charities). 

iii. Practically all services exception of the religious and judicial were organized on a 

military basis and were controlled and paid by the military department. 

iv. The king was the fountain head of all authority except judiciary and military. 

A) i and ii are correct  B) iii and iv are correct 

C) i, ii, iii are correct  d) ii, iii, iv are correct 

5. Facts relating to Socio-Religious Reform movement. 

i. The one idea that haunted Vivekananda during his parivrajaka (wandering) days was 

how to make the Vedanta practical.

ii. Rammohan Roy was fully alive to the challenges that had come to India in the form 

of western civilization and felt strongly the need for a new  philosophy which would, 

without sacrificing the genuine spiritual heritage if India, absorb and assimilate the 

modernism imported from the west. 

iii. Prarthana Samaj followers devoted their attention mainly to social reform-interlining 

inter-marriage, remarriage of widows and improvement of the lot of women and the 

depressed classes. 

iv. Annie Besant believed that a revival and reintroduction of India’s ancient ideals and 

institutions could solve most of the problems. 

A) i, ii, iii, iv are correct  B) ii, iii, iv are correct 

C) iii and iv are correct  d) ii only correct 

6. Facts relating to Rise of Extremism. 

i. Recognition of the true nature of British rule.

ii. deteriorating economic condition of India.

iii. lytton and Curzon’s progressive administrative policies. 

iv. Contemporary international influence. 

A) i and ii are correct  B) i, ii, iv are correct 

C) iii and iv are correct  d) ii, iii, iv are correct 
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4. oi|WLsZŸ¾]Rs oOY¥ nqevOoLp] mÌRÕŸ vñOfW¥. 

i. CSÍL&CyæLo]WV yLz]f|¾]¤ Bh|oLp] RI¢&RI&AWVmr] j]WOf]pORa ff~°¥ 

 v]wh}Wq]¨OÐO. 

ii. AWVmr]R£ oNÍ]ynp]¤ jLsV AUY°tOºLp]qOÐO. v¨}¤ (NkiLjoNÍ]), 

vy}¡ (ijoNÍ]), o]¡ mƒ] (WqSyjpORapOU nqe¾]R£pOU \OofspOç oNÍ]) 

yh¡&DyV&yOhP¡ (of¾]R£pOU ^}vWLqOe|¾]R£pOU \Oofs).

iii. ofkqvOU ̂ Oc}x|r]pOU Ku]RWpOç IsæL Syvj°tOU RRyj]WLa]òLj¾]¤ yUZa]

Õ]¨OWpOU RRyj]W vWOÕLeV j]pNÍ]¨OWpOU keU j¤WOWpOU R\pÅfV.

iv. ^Oc}x|r]pOU RRyj|vOU Ku]RWpOç IsæL Ai]WLq°tORapOU fsvjLp]qOÐO 

qL^LvV. 

A) i, ii wq]pLeV   B) iii, iv wq]pLeV

C) i, ii, iii wq]pLeV   d) ii, iii, iv wq]pLeV

5. yLoPz]W&of kq]ëqe NkòLjvOoLp] mÌRÕŸ vñOfW¥. 

i. kq]NvL^W (As´Of]q]pOÐ) WLs¾V v]SvWLjÎRj SvŸpLa]p KqO BwpU SvhLÍU 

I°Rj NkLSpLY]WoL¨LU IÐfLp]qOÐO.

ii. kLéLf| jLYq]WfpORa qPk¾]¤ CÍ|p]¤ vÐ RvsæOv]t]WRt kP¡¹oLp] Sjq]aL¢ 

rLUSoLz¢ SrLpV DºLp]qOÐO, WPaLRf KqO kOf]p f¾~\]ÍpORa Bvw|Wf 

w©oLp] SfLÐ] – CÍ|pLReË]¤ pgL¡À BÄ}p RRkfQWU f|^]¨LRf, ka]´LrV 

j]ÐV Cr¨Oof] R\pÅ BiOj]WfRp y~LUw}Wq]¨OWpOU R\pÅO. 

iii. NkL¡ÀjL yoL^U AjOpLp]W¥ AvqORa èÈ NkiLjoLpOU yLoPz]W kq]ëqe¾]

jLeV A¡Õ]\ÿfV – kqy×q v]vLzU fÚ]sOç mÌU, v]ivWtORa kOj¡v]vLzU, Nñ}

WtORapOU Ai:ò]f v]nLY°tORapOU kOSqLYf]. 

iv. CÍ|pORa kOqLfj Bh¡w°tORapOU òLkj°tORapOU kOjqO²}vjvOU  

kOjqvSsLWjvOU o]¨ NkwÔ°tOU kq]zq]¨ORoÐV Bj] my£V v]w~y]\ÿO. 

A) i, ii, iii, iv wq]pLeV    B) ii, iii, iv wq]pLeV 

C) iii, iv wq]pLeV    d) ii oLNfU wq]pLeV 

6. f}NvvLh¾]R£ Dp¡\ÿpOoLp] mÌRÕŸ vñOfW¥. 

i. Nm]Ÿ}xV nqe¾]R£ pgL¡À y~nLvU f]q]\ÿr]p¤.

ii. CÍ|pORa yLÒ¾]W ò]f] fWqOÐO.

iii. s]ãe]R£pOU WuVye]R£pOU kOSqLYojkqoLp nqe jp°¥. 

iv. yoWLs]W AÍLqLNì y~Li}jU.

A) i, ii wq]pLeV    B) i, ii, iv wq]pLeV 

C) iii, iv wq]pLeV     d) ii, iii, iv wq]pLeV 
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7. Facts about British Administration in India. 

i. The first association of British with the work of administration under what is called the 

system of dual Government.

ii. By the Regulating Act, the Supreme Court constituted in 1774 with Sir Elijah Impey 

as Chief Justice. 

iii. The Pitt’s India Act, 1784 introduced changes mainly the Company’s home government 

in london. 

iv. By the Charter Act of 1813 the Company was deprived of its monopoly of trade with 

India but it still enjoyed its monopoly of trade with China and the trade in tea. 

A) i and ii are correct  B) ii, iii, iv are correct 

C) iii and iv are correct  d) i, ii, iii, iv are correct 

8. Facts relating to French Revolution.

i. The Estates-General was traditionally composed of three Assemblies representing 

the three estates.

ii. In tax system, those who were the wealthiest and therefore best able to support the 

State were the very ones who paid the least.

iii. The Revolution was not caused by the philosophers but by the conditions and evils 

of the National life and by the mistakes of the Government. 

iv. The declaration of the Rights of the man – a statement intended to have universal 

applications and which certainly had very far-reaching implications. 

A) i and ii are correct  B) ii and iii are correct 

C) i, ii, iii, iv are correct  d) iii and iv are correct 

9. Facts about the causes of Second World War. 

i. Rearmament and appeasement.

ii. militarism, imperialism and colonialism. 

iii. munich Pacts and decisions.

iv. Italian Polish Corridor attack.

A) i, ii, iii are correct  B) ii, iii, iv are correct 

C) ii and iv are correct  d) i and iii are correct 



 031/23 – M

a -7- 

7. CÍ|p]Rs Nm]Ÿ}xV nqeR¾¨Or]\ÿOç vñOfW¥. 

i. c|Ov¤ Yv¦Ro£V IÐV v]t]¨RÕaOÐ nqeyUv]iLjvOoLp] 

 Nm]Ÿ}xOWLqORa  Bh| WPŸORWŸV.

ii. RrYOSsã]UYV BW›V NkWLqU, 1774&¤ y¡ Is]^L CURk \}lV ^ð]yLp] yONk}U 

SWLaf] òLk]foLp]. 

iii. k]ãVy]R£ CÍ| BW›V 1784 NkiLjoLpOU sºj]Rs WÒj]pORa SzLU Yv¦Ro£]¤ 

oLã°¥ RWLºOvÐO. 

iv. 1813&Rs \L¡Ÿ¡ BW›V vu] WÒj]¨V CÍ|pOoLpOç v|LkLq¾]R£ WO¾W 

jìRÕRŸË]sOU RR\jpOoLpOç v|LkLq¾]R£pOU Sfp]s v|LkLq¾]R£pOU 

WO¾W fOa¡ÐO. 

A) i, ii wq]pLeV   B) ii, iii, iv wq]pLeV

C) iii, iv wq]pLeV   d) i, ii, iii, iv wq]pLeV

8. NlµV v]kævvOoLp] mÌRÕŸ vñOfW¥.

i. ISðãV ^jr¤ kqÒqLYfoLp] oPÐV ISðãOWRt Nkf]j]i}Wq]¨OÐ oPÐV AyUmæ] 

W¥ S\¡ÐfLeV.

ii. j]WOf] yNÒhLp¾]¤ JãvOU yÒÐqOU yUòLjR¾ k]ÍOeàL¢ Wu]pOÐvqOoLp 

BtOW¥ JãvOU WOr´ Nkf]lsU j¤W]pvqLeV.

iii. v]kævU DºLpfV f¾~\]ÍW¡ WLqeosæ, or]\ÿV Shw}p ^}v]f¾]R£ yLz\q|°tOU 

f]ÓWtOU, y¡¨Lq]R£ RfãOWtOoLeV. 

iv. ojOx|R£ AvWLw°tORa NkX|LkjU&yL¡vÿNf]WoLp NkSpLY°tOU AfV f}¡\ÿpLpOU 

vtRq hPqv|LkWoLp Nkf|LZLf°¥ DºL¨]p]qOÐO. 

A) i, ii wq]pLeV   B) ii, iii wq]pLeV

C) i, ii, iii, iv wq]pLeV   d) iii, iv wq]pLeV

9. qºLU SsLW ozLpOÈ¾]R£ WLqe°Rt¨Or]\ÿOç vñOfW¥. 

i. kOj:y²}WqevOU Nk}ejvOU.

ii. o]s]Ÿr]yU, yLNoL^|f~U, RWLStLe]ps]yU. 

iii. o|Pe]¨V WqLrOWtOU f}qOoLj°tOU.

iv. CãLs]p¢ SkLt]xV CajLu] BNWoeU.

A) i, ii, iii wq]pLeV   B) ii, iii, iv wq]pLeV

C) ii, iv wq]pLeV   d) i, iii wq]pLeV
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10. Causes for the Rise of Nationalism. 

i. Partitions of Bengal and divide and Rule Policy.

ii. The press and periodications.

iii. British Policy and IIbert Bill Controversy.

iv. British Foreign Policy of the pre-war years upset the muslim feeling in India. 

A) ii and iii are correct  B) i, ii, iii, iv are correct 

C) ii, iii, iv are correct  d) iii and iv are correct 

11. Identify the layer of atmosphere mentioned in the facts listed, and, choose the correct 

answer from those given below. 

i. Here temperature remains constant upto a height of 20 kms and afterwards it gradually 

increases upto a height of 50 kms, because of the presence of ozone layer, which 

absorbs sun’s ultraviolet rays. 

ii. It is a non-conductive zone of the atmosphere, containing rarefied air, where clouds 

are absent with little dust or water-vapour.

A) Troposphere  B) Stratosphere 

C) mesosphere  d) Thermosphere 

12. Consider the following statements regarding river deltas and identify the correct statements 

from the codes given below : 

i. Delta is a fan-shaped area of fine alluvium at the mouth of a river.

ii. deltas are the tidal mouth of a river where fresh and saline water are mixed.

iii. For the formation of delta, a shallow sea, a river with substantial load of suspended 

rock material and calm water off-shore are necessary. 

iv. deltas are formed on the shores of high tidal seas.  

A) i, ii and iii are correct  B) ii, iii and iv are correct 

C) i, ii and iv are correct  d) i, iii and iv are correct 
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10. Shw}pfpORa Dhp¾]jOç WLqe°¥. 

i. mUYL¥ v]n^jvOU, v]n^]\ÿV nq]¨OÐ jpvOU.

ii. kNf°tOU BjOWLs]W°tOU.

iii. Nm]Ÿ}xV jpvOU C¤m¡ŸV m]¤ v]vLhvOU

iv. pOÈ¾]jO oOÒOç Nm]Ÿ}xV v]ShwjpU CÍ|p]Rs oOyæ}U v]WLqR¾   

Ay~òoL¨]. 

A) ii, iii wq]pLeV   B) i, ii, iii, iv wq]pLeV

C) ii, iii, iv wq]pLeV   d) iii, iv wq]pLeV

11. s]ðV R\pÅ]q]¨OÐ vñOfW¥ yP\]Õ]¨OÐ AÍq}ƒ kLt] f]q]\ÿr] V́, fLRuÕrpOÐvp]¤ 

j]ÐV wq]pLp D¾qU RfqR´aO¨OW. 

i. Cv]Ra Bh| 20 km KSq fLkj]spOU AfOWu]´V  50 km DpqU vRq KLSyL¦ 

 kLt] pORa yLÐ]i|U DçfORWLºOU KLSyL¦ kLt] A¥NaL vpsãV W]qe°Rt BY]qeU

R\áOÐfV RWLºOU  fLkj]s DpqOWpOU R\áOÐO.

ii. CfV AÍq}ƒ¾]Rs \LsWU AsæL¾ SoXspLeV, Cv]Ra vLpOv]¤ KLWõ]^R£ AtvV  

WOrvLeV. Cv]Ra R\r]p RkLa]SpL j}qLv]SpL Dç SoZ°¥ Csæ.

A) SNaLSÕLó]p¡ B) Ny›LSãLó]p¡

C) o}SyLó]p¡   d) Rf¡SoLó]p¡

12. r]v¡ Rc¤ãWRt (jh}oOXU) yUmÌ]\ÿV Cj] krpOÐ NkñLvjW¥ kq]Ye]¨OWpOU fLRu 

j¤W]p]q]¨OÐf]¤ j]ÐV wq]pLp NkñLvjW¥ f]q]\ÿr]pOWpOU R\áOW. 

i. jh]oOX¾Oç lL¢ BWQf]p]sOç I¨¤ (oe¤f]Ÿ) NkShwoLeV Rc¤ã.

ii. wOÈ^svOU DÕORvçvOU Ws¡Ð KqO jh]pORa Svs]Spã oOXoLeV Rc¤ãW¥.

iii. Rc¤ãpORa qPk}Wqe¾]jV, BuU WOr´ Wa¤, kLr¨xe°tORa Ye|oLp nLqU 

vz]¨OÐ jh], wLÍoLp \]s f}qU IÐ]v Bvw|oLeV. 

iv. Dp¡Ð Svs]SpãoOç Was]R£ f}q¾LeV Rc¤ãW¥ qPkU RWLçOÐfV.  

A) i, ii, iii IÐ]v wq]pLeV B) ii, iii, iv IÐ]v wq]pLeV 

C) i, ii, iv IÐ]v wq]pLeV d) i, iii, iv IÐ]v wq]pLeV
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13. Identify the State mentioned in the facts listed, and, choose the correct answer from those 

given below.

i. Sariska Tiger Reserve is in the Alwar district of this State.

ii. ‘Pokhran’ lies in this State is in the Jaisalmer district.

iii. The largest canal in India, Indira Gandhi Canal, which utilises water of Sutlej river, is 

in this State. 

A) Gujarat  B) Uttar Pradesh

 C) Rajasthan  d) Punjab 

14. Identify the incorrect statement from those given below.

i. On 21st march, it is spring in Northern hemisphere, so called spring/vernal equinox. 

ii. On 23rd September, it is autumn in Northern hemisphere, so called autumnal 

equinox. 

iii. On 21st June, North pole is inclined towards sun, so days are long and hot and it is 

summer in Northern hemisphere, so called summer solstice. 

iv. On 22nd  december, South pole is inclined towards Sun, so days are long and hot 

and it is winter in Southern hemisphere, so called winter solstice. 

A) i is wrong  B) ii is wrong 

C) iii is wrong  d) iv is wrong 

15. The facts mentioned below are about a peninsular river system of India. Identify the 

correct one from the choices given below. 

i. It is the second largest peninsular river system of India.

ii. It rises from a spring near mahabaleshwar and is 1400 km long.

iii. It’s major tributaries are Bhima and Tungabhadra.

iv. It flows through Maharashtra, Karnataka and Andhra Pradesh.

A) Godavari river system  B) Krishna river system

C) mahanadi river system  d) Cauvery river system 



 031/23 – M

a -11- 

13. s]ðV R\pÅ]q]¨OÐ vñOfW¥ yP\]Õ]¨OÐ yUòLjU f]q]\ÿr] V́, fLRuÕrpOÐvp]¤  

j]ÐV wq]pLp D¾qU RfqR´aO¨OW. 

i. CT yUòLjR¾ A¤vL¡ ^]sæp]sLeV yq]yVW RRaY¡ r]y¡vÿVV ò]f] R\áOÐfV.

ii. ‘RkLNXL¢’ IÐ NkShwU D¥RÕŸ]q]¨OÐfV CT yUòLjR¾ ^pV y¤o¡ ^]sæp]sLeV.

iii. yfVs^V jh}^sU DkSpLYRÕaO¾]pOç CÍ|p]Rs fRÐ JãvOU vs]p WjLsLp 

CÎ]qLYLÌ] WjL¤ CT yUòLj¾LeV j]sRWLçOÐfV. 

A) YO^rL¾V B) D¾¡NkShwV  

C) qL^òL¢   d) kµLmV

14. fLRuR¨LaO¾]q]¨OÐvp]¤ j]ÐV RfãLp NkñLvj f]q]\ÿr]pOW. 

i. oL¡\ÿV 21&jV va¨¢ A¡ÈSYLt¾]Rs vyÍWLsoLeV. Cf]Rj vyÍWLs 

yUmÌ]pLp v]xOvU IÐV v]t]¨OÐO. 

ii. RykVãUm¡ 23 &jV va¨¢ A¡ÈSYLt¾]Rs wqfVWLsoLeV. Cf]Rj wqfVWLs 

 v]xOvU IÐV v]t]¨OÐO. 

iii. ^P¦ 21&jV D¾qNiOvU yPq|j]Ss¨V \LpOÐf]jL¤ h]vy°¥ RRh¡Z|Sor]

pfOU \PaOçfOU BWOÐO. D¾qL¡ÈSYLt¾]¤ CfV Svj¤¨LsoLeV, Cf]Rj 

Svj¤¨Ls ArOf] IÐV v]t]¨OÐO. 

iv. c]yUm¡ 22&jV hƒ]eNiOvU yPq|j]Ss¨V \LpOÐf]jL¤ h]vy°¥ RRh¡Z|Sor]

pfOU \PaOçfOU BWOÐO. hƒ]eL¡ÈSYLt¾]¤ CfV RRwf|WLsoLeV. Cf]Rj 

RRwf|WLs ArOf] IÐV v]t]¨OÐO. 

A) i RfãLeV    B) ii RfãLeV 

C) iii RfãLeV  d) iv RfãLeV

15. fLRuR¨LaO¾]q]¨OÐ NkñLvjW¥ CÍ|p]Rs KqO Dkh~}k}p jh}v|vòRp WOr]\ÿLeV. 

wq]pLp D¾qU f]qR´aO¨OW. 

i. CfV CÍ|p]Rs JãvOU vs]p qºLoR¾ Dkh~}k]p jh] v|vò BeV.

ii. CfV DÂv]¨OÐfV ozLmSsw~q¾]jV yo}koOç j}qOrvp]¤ j]ÐLeV. Cf]R£ 

RRh¡Z|U1400 km BeV.

iii. CT jh]pORa NkiLj SkLxWjh]W¥ BeV n}opOU fOUYnNhpOU.

iv. CT jh] ozLqLNì, W¡eLaW, BNÌLNkShwV IÐ} yUòLj°t]sPRa KuOWOÐO.

A) SYLhLvq] jh] v|vò B) WQxVe jh] v|vò

C) ozLjh] jh] v|vò  d) WLSvq] jh] v|vò
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16. Which of the following statements is/are correct about the Indian economy during the 
Covid Pandemic 2019 – 21 ? 

1. Agriculture and allied sectors have been the least impacted by the pandemic.

2. India’s balance of payments remained in surplus.

3. India’s response has been an emphasis on demand management rather than reliance 
on supply-side reforms. 

4. Indian economy is expected to witness a real GdP expansion.
A) 1 and 2  B) 1, 2 and 4
C) 3 only  d) all are wrong 

17. Reverse Repo Rate refers to 
A) The (fixed) interest rate at which the Reserve Bank absorbs liquidity, on an overnight 

basis, from banks against the collateral of eligible government securities under the 
liquidity Adjustment Facility.

B) The (flexible) interest rate at which the Reserve Bank absorbs liquidity, on an overnight 
basis, from banks against the collateral of eligible government securities under the 
liquidity Adjustment Facility.

C) The rate at which the Reserve Bank is ready to buy or rediscount bills of exchange 
or other commercial papers. 

d) The outright purchase and sale of government securities, for injection and absorption 
of durable liquidity, respectively. 

18. Which among the following is the largest item of revenue in the Union Budget  
2022 – 23 ? 
A) Income tax  
B) Union Excise duties 
C) GST  
d) Borrowings and other liabilities

19. Which one of the following is not an objective of NITI AyOG ? 

A) To foster co-operative federalism

B) To develop mechanisms to formulate credible plans at the central level 

C) To design strategic and long-term policy and program frameworks and initiatives

d) To create a knowledge, innovation and entrepreneurial support system
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16. 2019 – 21 SWLv]cV ozLoLq] WLsZŸ¾]¤ CÍ|¢ yÒhVv|vòRp WOr]\ÿOç 
 fLRu krpOÐ NkñLvjWt]¤ JfLeV/JRfLR¨pLeV wq]pLpv ? 

1. WQx]RppOU AjOmÌ SoXsWRtpOU ozLoLq] WOr´ SfLf]¤ oLNfU 
 mLi]\ÿ]q]¨OÐO.

2. CÍ|pORa RkpVRo£V mLs¢yV o]\ÿoLp] fRÐ fOaqOÐO.

3. yRRkæ RRycV kq]ëLq°Rt Bèp]¨OÐf]jV kWqU c]oL¢cV oLSj^VRo£]jV DTÐ¤ 
j]sV¨OÐfLp]qOÐO CÍ|pORa Nkf]WqeU. 

4. CÍ|¢ yÒ¾V v|vò pgL¡À ̂ ].c].k]. v]kOs}Wqe¾]jV yLƒ|U vz]¨ORoÐV  
Nkf}ƒ]¨OÐO.

A) 1, 2 B) 1, 2, 4 
C) 3 oLNfU   d) IsæLU RfãLeV

17. r]SvuVyV r]SÕL j]q¨V yP\]Õ]¨OÐfV 
A) Rly]s]ã]¨V W}u]sOç SpLY|qLp y¡¨L¡ RyW|Pq]ã]WtORa RWLtLãrs]Rjf]Rq 

mLËOWt]¤ j]ÐV KãqLNf]RWLºV r]y¡vV mLËV Nhv|f BY]qeU R\áOÐ (j]é]f)
ks]w j]q¨V.

B) Rly]s]ã]¨V W}u]sOç SpLY|qLp y¡¨L¡ RyW|Pq]ã]WtORa RWLtLãrs]Rjf]Rq 
mLËOWt]¤ j]ÐV KãqLNf]RWLºV r]y¡vV mLËV Nhv|f BY]qeU R\áOÐ (ApvOç)
ks]w j]q¨V.

C) vLe]^| SkÕrOWtORa m]sæOW¥ vL°LSjL v}ºOU W]u]vV j¤W] IWõVS\µV R\áO

 Ðf]SjL r]y¡vV mLËV  fáLrL¨]p]q]¨OÐ j]q¨V. 

d) pgLNWoU c|Prm]¥ s]W~]c]ã] j¤WOÐf]jOU BY]q]eU R\áOÐf]jOoLp] y¡¨L¡ 
RyW|Pq]ã]WtORa Sjq]ŸOç vL°sOU v]¤ÕjpOU. 

18. 2022 – 23&Rs pPe]p¢ m^ã]Rs JãvOU vs]p vqOoLj CjU fLRuÕrpOÐvp]¤  
JfLeV ?

A) C¢WU aLWõV   

B) pPe]p¢ IWVRRyyV c|PŸ]

C) ^] IyV a]   

d) WaU vL°sOU oãV mLi|fWtOU

19. fLRuÕrpOÐvp]¤ JfLeV j}f] BSpLY]R£ sƒ|osæL¾fV ? 
A) yzWqe Rlcrs]yU vt¡¾L¢
B) SWNÎ fs¾]¤ v]w~yj}poLp kÈf]W¥ qPk}Wq]¨OÐf]jOç yUv]iLj°¥ 

 v]Wy]Õ]¨OW
C) fNÍkqvOU h}¡ZWLsvOoLp jpvOU SNkLNYLU \Ÿ¨PaOWtOU yUqUn°tOU  

qPkRÕaO¾OÐf]jV

d) Ar]vV, jv}WqeU, yUqUnW k]ÍOe yUv]iLjU IÐ]v yQì]¨L¢
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20. As per the Consumer Protection Act 2019, a product manufacturer shall be liable in a 
product liability action, if 

1. The product contains a manufacturing defect. 

2. The product is defective in design.

3. There is a deviation from manufacturing specifications. 

4. The product does not conform to the express warranty. 

A) 1, 2 and 3  B) 2, 3 and 4  C) 1 only  d) all 

21. Which among the following word was added to the Preamble of the Indian Constitution 
by the 42nd Amendment ?

A) Sovereign B) Socialist C) democratic d) Republic

22. Who among the following was not a member of the drafting Committee of Indian 
Constitution ?
A) B. R. Ambedkar B) K. m. munshi
C) mohammad Saadulla d) Jawaharlal Nehru

23. How Article dealing with Amendment of Constitution (Art. 368) can be amended ?
A) By simple majority B) By special majority
C) By special procedure d) None of the above

24. Find out the right statement with regard to freedom of press in India.

A) There is no specific guarantee of freedom of press in Indian Constitution

B) Freedom of press is absolute right

C) The press is immune from ordinary forms of taxation

d) The press enjoys special privileges under Article 19

25. How many times National Emergency (Art. 352) was imposed in India ?
A) Once B) Twice C) Thrice d) Four times

26. Which among the following is not a function of Union Public Service Commission ?

A) To conduct examinations for appointments to the services of the Union and the 
services of the State

B) To be consulted on disciplinary matters affecting a person serving under the 
Government of India

C) To be consulted on matters relating to methods of recruitment to military services

d) To be consulted on matters relating to claim for the award of a pension in respect of 
injuries sustained by a person while serving the Government of India
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20. DkSnL©Q yUqƒe j]poU 2019 AjOyq]\ÿV, KqO D¤ÕÐ mLi|fL Nkv¡¾j¾]¤ KqO 
D¤ÕÐ j]¡ÚLfLvV mLi|òjLp]q]¨OU, IË]¤

1. D¤ÕÐ¾]¤ KqO j]¡ÚLe RRvWs|U Aa°]p]q]¨OÐO. 

2. D¤ÕÐ¾]R£ qPkWs×jp]Rs k]uvV/RRvWs|U.

3. kLs]¨RÕSaº j]¡ÚLe yv]SwxfWt]¤ j]ÐOç v|f]pLjU. 

4. D¤ÕÐU IWõVNkyV vLr£]pOoLp] RkLqO¾RÕaOÐ]sæ. 

A) 1, 2 and 3  B) 2, 3 and 4  C) 1 oLNfU d) IsæLU 

21. fLRuÕrpOÐvp]¤ JfLeV 42&LU SnhYf]p]sPRa CÍ|¢ nqeZajpORa BoOX¾]¤  
S\¡¾fV ?

A) kqoLi]WLqU (RyLRvr]¢) B) SyLx|s]ðV 

C) ^jLi]kf|U (RcSoLNWLã]WV) d) ^jLi]kf|nqeU (r]Õmæ]WV )

22. fLRuÕrpOÐvq]¤ BqLeV CÍ|¢ nqeZajpORa NcLlVã]UYV WÚ]ã]p]¤ AUYosæL¾fV ?

A) m].B¡. AUSmhVW¡   B) RW. IU. oO¢x]

C) oOzÚhV yLhOç  d) ^vz¡sL¤ RjzVrO

23. nqeZajL SnhYf]pOoLp] mÌRÕŸ B¡Ÿ]¨]¥ (Art. 368) I°Rj SnhYf] R\áLU ?

A) SWvs nPq]kƒ¾]¤ B) NkSf|W nPq]kƒS¾LRa

C) NkSf|W jaka]NWoU vu] d) oOWt]¤ kr´v KÐOosæ

24. CÍ|p]Rs oLi|oy~LfNÍ|vOoLp] mÌRÕŸV wq]pLp NkñLvj WRº¾OW.

A) CÍ|¢ nqeZajp]¤ oLi|oy~LfNÍ|¾]jV NkSf|W DrÕ]sæ.

B) kNfy~LfNÍ|U f]W\ÿOU wq]pLeV.

C) kNf°¥ yLiLqe j]WOf]p]¤ j]ÐV oO©oLeV.

d) B¡Ÿ]¨]¥19 NkWLqU kNf°¥¨V NkSf|W khv]W¥ DºV.

25. CÍ|p]¤ INf fve Shw}p Aa]pÍqLvò (Art. 352) J¡RÕaO¾] ?

A) KqO fve B) qºO fve C) oPÐV fve d) jLsV fve

26. fLRuÕrpOÐvp]¤ JfLeV pPe]p¢ kmæ]WV y¡v}yV WÚ}xR£ Nkv¡¾josæL¾fV ?
A) pPe]pR£pOU yUòLj Syvj°tORapOU Syvj°t]Ss¨Oç j]poj°¥¨Lp] 

kq}ƒW¥  ja¾OÐf]jV

B) y¡¨Lq]jV W}u]¤ SyvjojOxVb]¨OÐ KqO v|©]Rp mLi]¨OÐ A\ÿa¨ 
WLq|°t]¤ WPa]pLSsL\]¨OÐf]jV

C) RRyj]W Syvj°t]Ss¨Oç j]poj q}f]WtOoLp] mÌRÕŸ WLq|°t]¤ 
 WPa]pLSsL\]¨OÐf]jV

d) CÍ|LYv¦Ro£]¤ SyvjojOxVb]¨OSÒL¥ KqO v|©]¨OºLp kq]¨OWtORa  
WLq|¾]¤ Rk¢x¢ j¤WOÐf]jV RWæp]U R\áOÐfOoLp] mÌRÕŸ WLq|°t]¤ 
WPa]pLSsL\]S¨ºfLeV
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27. Identify the political party which is not recognized a national party in India (as on 2022 

data).

A) Bharatiya Janata Party B) Bahujan Samaj Party

C) Nationalist Congress Party d) Aam Admi Party

28. Under RTI Act, how much time is provided for disbursal of information sought for concerns 

on life or liberty of a person ?

A) 24 Hrs B) 48 Hrs C) 15 days d) 30 days

29. Which among the following is the qualification to be appointed as President, National 

Consumer disputes Redressal Commission ?

A) Retired Chief Justice of the Supreme Court of India

B) Sitting or retired Judge of the Supreme Court of India

C) Sitting or retired Chief Justice of High Court

d) Any person with a deep knowledge on consumer issues

30. Which State initiated the ‘Bhoomi’ project ?

A) Karnataka B) Kerala

C) Andhra Pradesh d) Tamil Nadu

31. Name the Ancient Sanskrit Theatre practiced in Kerala.

A) Koodiyattam B) Padakam C) Rupaka d) Prahasana

32. “Kerala Kalamandalam” is situated in

A) Palakkad B) malappuram

C) Thrissur d) Ernakulam

33. The venue of Uthrattathi Boat Race in Kerala is

A) Kavalam B) Piravom

C) Aranmula d) Punnamada

34. Who is hosting the Winter Olympics, 2026 ?

A) France B) Italy C) England d) America

35. Who is the author of “Ramakathappattu” ?

A) Cheeraman B) Punam C) Cherussery d) Ayyappilla Asan
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27. CÍ|p]¤ Shw}p kL¡Ÿ]pLp] AUY}Wq]¨RÕaL¾ qLNì}p kL¡Ÿ]Rp f]q]\ÿr]pOW. 
  (2022&Rs cLã NkWLqU)

A) nLqf}p ^jfL kL¡Ÿ]  B) mzO^¢ yoL^V kL¡Ÿ]

C) jLxes]ðV SWL¦NYôV kL¡Ÿ] d) BU BhVo] kL¡Ÿ]

28. v]vqLvWLw j]poNkWLqU (RTI) KqO v|©]pORa ̂ }v]fR¾SpL y~LfNÍ|R¾SpL WOr]\ÿOç 
BwËW¥¨Lp] Bvw|RÕaOÐ v]vq°¥ v]fqeU R\áOÐf]jV INf yopU j¤W]p]
ŸOºV ?

A) 24 oe]¨P¡ B) 48 oe]¨P¡ 

C) 15 h]vyU d) 30 h]vyU

29. Shw}p DkSnL©Qf¡¨ kq]zLq WÚ}x¢ Nky]c£Lp] j]po]¨OÐf]jOç SpLY|f 
fLRuÕrpOÐvp]¤ JfLeV ?

A) CÍ|pORa v]qo]\ÿ yONk}U SWLaf] \}lV ^ð]yV 

B) SyvjojOxVb]¨OÐSfL v]qo]\ÿSfL Bp yONk}U SWLaf] ^cV^]

C) SyvjojOxVb]¨OÐSfL v]qo]\ÿSfL Bp RRzS¨L¡ŸV \}lV ^ð]yV

d) DkSnL©Q NkwÔ°t]¤ Bu¾]sOç Ar]vOç JRfLqO v|©]pOU

30. ‘nPo]’ kÈf] BqUn]\ÿ yUòLjU.

A) W¡eLaW   B) SWqtU

C) BNÌLNkShwV   d) fo]uVjLaV

31. SWqt¾]¤ Nkv¡¾]¨OÐ NkL\}j yUØQf jLaWSvh]pORa SkqV ?

A) WPa]pLŸU B) kLbWU 

C) qPkW d) Nkzyj

32. “SWqt WsLo¼sU” ò]f] R\áOÐfV

A) kLs¨LaV   B) osÕOrU 

C) fQêP¡   d) IreLWOtU

33. SWqt¾]Rs DNfŸLf] vçUWt]pORa Svh].

A) WLvLsU B) k]rvU 

C) BrÓOt   d) kOÐoa

34. 2026&Rs v]£¡ Kt]Ò]Wõ]jV Bf]Sgpf~U vz]¨OÐfV BqLeV ?

A) NlL¢yV B) Cãs] C) CUYæºV d) ASoq]¨

35.  “qLoWgÕLŸ]R£” q\p]fLvV BqLeV ?

A) \}qLo¢ B) kOjU C) R\rOSêq] d) AáÕ]ç BwL¢
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36. The malayalam poet whose life story is portrayed in the novel, “Theekkatal Katanhu 

Thirumadhuram” ?

A) O.N.V. B) Kumaranasan

C) Thunchath Ezhuthachan d) Chullikkadu

37. The year of Aruvippuram Pratistha was

A) 1855 B) 1888 C) 1818 d) 1911

38. The old Victoria Hall in Trivandrum is named after

A) Ayyankali B) dr. Palpu

C) Kurumban daivathan d) Kumaragurudevan

39. Name the first University which declared menstrual leave in Kerala.

A) malayalam B) Calicut

C) SSUS d) CUSAT

40. Who won the golden boots in Qatar World Cup Football 2022 ?

A) Neymar B) Kylian mbappé

C) Ronaldo d) lionel messi

41. Which of the following System Software allows storing the output as Object Code ?

A) Interpreter B) Compiler

C) Assembler d) loader

42. Which of the following devices are considered to be intelligent ?

I. Router

II. Switch

III. Hub

IV. Bridge

A) I and II B) II and IV C) I only d) II only

43. The current fastest Super Computer as per TOP500 ranking is

A) Frontier HPE Cray EX235a B) leonardo BullSequana XH2000

C) Fugaku Super Computer d) Sierra IBm S922lC
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36. “f}¨a¤ Wa´O f]qOoiOqU” IÐ SjLvs]¤ ̂ }v]fWg \]Nf}Wq]\ÿ]q]¨OÐ ospLt Wv]  
BqV ?

A) K. I¢. v].   B) WOoLqjLwL¢

C) fOµ¾V  IuO¾±¢ d) \Oç]¨LaV

37. AqOv]ÕOrU Nkf]xVb jaÐ v¡xU.

A) 1855 B) 1888 C) 1818 d) 1911

38. f]qOvjÍkOqR¾ kup v]SW›Lr]p zLt]R£ SkqV.

A) AáËLt]   B) ScL. k¤kO

C) WOrOÒ¢ RRhvf¢  d) WOoLqYOqOShv¢

39. SWqt¾]¤ B¡¾v Avi] NkX|Lk]\ÿ Bh|R¾ y¡vÿWsLwLs JfV ?

A) ospLtU   B) WLs]¨ãV 

C) IyVIyVpOIyV d) WOyLãV

40. 2022 X¾¡ SsLWWÕV lOaVSmLt]¤ SYL¥c¢ mPŸV Sja]pfV BqLeV ?

A) RjpVo¡ B) RRWs]p¢ IUmLRÕ

C) RrLeL¥ScL   d) spe¤ Roô]

41. fLRuÕrpOÐvp]¤ JfV y]ðU SyLlVãVRvp¡ BeV cLã KmV^W›V SWLcV Bp]ŸV   
yUnq]¨OÐfV ?

A) C£¡SNkã¡   B) WURRks¡ 

C) AôUmæ¡   d) SsLc¡

42. fLRuÕrpOÐ DkWqe°t]¤ JRfLR¨pLeV C£s]R^£V Bp]ŸV We¨L¨OÐfV ?

I. rPŸ¡

II. y~]\ÿV

III. zmÿV

IV. Nm]cV^V

A) I and II B) II and IV C) I oLNfU d) II oLNfU

43. TOP500 rLË]UYV NkWLqU j]sv]Rs JãvOU SvYfSpr]p yPÕ¡ WÒ|PŸ¡ JfLeV ?

A) SNlLº]p¡ HPE SNW EX235a B) s]SpLjL¡ScL mO¥RyW~Lj XH2000

C) lOYLWO yPÕ¡ WÒ|PŸ¡ d) y]pr IBm S922lC



031/23 – M 

a -20- 

44. Search Engine provided by microSoft Corporation is

A) duckduckGo B) Baidu

C) yandex d) Bing

45. The expansion of SSd related memory devices is 

A) Solid Storage device B) Secondary Storage device

C) Solid State drive d) Secondary Storage drive

46. The Indian Physicist who is considered as the ‘Father of Fiber Optics’

A) Narinder Singh Kapany B) Satyendra Nath Bose

C) Thanu Padmanabhan d) Jagadhish Chandra Bose

47. Which is India’s first dedicated Space Astronomy Observatory ?

A) XPoSat B) AstroSat

C) Aditya-l1 d) Chandrayaan-2

48. Which of the following is a non-renewable energy source ?

A) Hydro Power B) Wind Energy

C) Bio Energy d) Nuclear Energy

49. Which is the largest wildlife sanctuary in India ?

A) Ranthambore National Park B) madumalai Sanctuary

C) Chinnar Wildlife Sanctuary d) manas Wildlife Sanctuary

50. Indira Gandhi National Forest Academy is situated at

A) Pune B) New delhi

C) dehradun d) Shillong 

51. Write the next of an Arithmetic Progression :

  2 8 18 32, , , , ____

A) 40 B) 50 C) 60 d) 70

52. How many two digit numbers are divisible by 3 ?

A) 10 B) 20 C) 30 d) 40
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44. RRoSNWLSyLlVãV SWL¡ÕSrx¢ j¤WOÐ Ry¡\ÿV Iµ]¢ JfLeV ?

A) duckduckGo B) Baidu

C) yandex d) Bing

45. RoÚr]pOoLp] mÌRÕŸ SSd pORa kP¡¹ qPkU

A) Solid Storage device B) Secondary Storage device

C) Solid State drive d) Secondary Storage drive

46. "RRlm¡ KkVã]Wõ]'R£ k]fLvV IÐr]pRÕaOÐ CÍ|¢ nTf]WwLNñ³¢ BqV ?

A) jq}Î¡ y]UYV WkLj]   B) ySf|NÎ jLgV SmLyV

C) fLeO kÄjLn¢ d) ^Yh}xV \NÎSmLyV

47. CÍ|p]Rs Bh|R¾ yo¡Õ]f S^|Lf]wLNñ j]q}ƒeLspU JfLeV ?

A) XPoSat B) BSNy›LyLãV 

C) Bh]f|&I¤1   d) \NÎpL¢-2

48. fLRuÕrpOÐvp]¤ JfLeV kOjqOkSpLY]¨L¢ kãL¾ DT¡²SNyLfôV ?

A) ^sRRvh|Of]   B) WLãV DT¡²U

C) mSpL Ij¡^]   d) BeSvL¡²U

49. CÍ|p]Rs JãvOU vs]p vj|^}v] ySËfU JfLeV ?

A) qÍUSmL¡ Shw}SpLh|LjU B) ohOospV yL‚V\~r]

C) \]ÐL¡ vj|^}v] ySËfU d) oLjyV vj|^}v] ySËfU

50. CÎ]qLYLÌ] jLxe¤ SlLrðV A¨Lho] Iv]RapLeV ò]f] R\áOÐfV ?

A) kPRj   B) j|Pc¤z]

C) RcrLcP¦   d) x]SsæL‚V 

51. fLRuR¨LaO¾]q]¨OÐ yoLÍq yUX|L Sèe]pORa AaO¾ khU IuOfOW.

2 8 18 32, , , , ____

A) 40 B) 50 C) 60 d) 70

52. INf qºV A¨ yUX|WRt 3 RWLºV zq]¨LU ?

A) 10 B) 20 C) 30 d) 40
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53. A person crosses a 600 m long street in 5 minutes. What is his speed in Km/hr ?

A) 6.8 B) 7.2 C) 8.4 d) 8.6

54. A completed the school project in 20 days. How many days B take to complete the 

same work if he is 25% more efficient than A ?

A) 14 B) 15 C) 16 d) 17

55. Find the compound interest on Rs. 48,000 for one year at 8% per annum when 

compounded half yearly.

A) Rs. 3,815.2 B) Rs. 3,912.2 C) Rs. 3,600.8 d) Rs. 3,916.8

56. The rate of Rs. 8 to 80 paise is

A) 10 : 1 B) 1 : 10 C) 8 : 1 d) 1 : 8

57. Sameera purchased 3 1
2

 Kg apples and 4 3
4

 Kg oranges. What is the total weight 

of the fruits purchased by her ?

A) 8 3
4

B) 8 1
2

C) 8 1
4

d) 8 2
3

58. The area of a rhombus is 240 cm2 and one of the diagonals is 16 cm. Find the other 

diagonal.

A) 20 cm B) 30 cm C) 40 cm d) 50 cm

59. Which of the following fractions is the smallest ?

A)
11
9

B) 
11
7

C)
11
10

d)
11
6

60. A man bought an article for Rs. 784 which included GST 12%. What is the price of 

article before GST was added ?

A) Rs. 680 B) Rs. 690 C) Rs. 700 d) Rs. 710

61. In a code, CORNER is written as GSVRIV. How can CENTRAl be written in that 

code ?

A) dFOUSBm B) GIRXVEP

C) GNFJKER d) None of these
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 53.  KqO v|©] 600 o}ã¡ j}toOç RfqOvV 5 o]j]ã]jOç]¤ WaÐOSkLWOÐO. Km/hr --&¤  
AvR£ SvYf INfpLeV ?

 A) 6.8 B) 7.2 C) 8.4 d) 8.6

 54. A ØP¥ kÈf] 20 h]vyU RWLºV kP¡¾]pL¨]. A&Rp¨L¥ 25% WPaOf¤   

WLq|ƒofpORºË]¤ B CSf S^Ls] kP¡¾]pL¨L¢ INf h]vyRoaO¨OU ?  

 A) 14 B) 15 C) 16 d) 17

 55. 48,000 qPk KqO v¡xS¾¨V 8% j]q¨]¤ A¡ÈvL¡x]WU WPŸ]S\ÿ¡¨OSÒL¥,  

qPkpORa (48,000) WPŸOks]w WRº¾OW.

 A) Rs. 3,815.2 B) Rs. 3,912.2 C) Rs. 3,600.8 d) Rs. 3,916.8

 56. 8 qPkp]¤ j]ÐV 80 RRkyp]Ss¨Oç j]q¨V INfpLeV ?

 A) 10 : 1 B) 1 : 10 C) 8 : 1 d) 1 : 8

 57. yo}r 3 1
2

 W]SsL BÕ]tOU 4
3
4

 W]SsL KLrµOU vL°]. Av¥ vL°]p ku°tORa BRW 

nLqU INfpLeV ?

 A) 8 3
4

 B) 8 1
2

 C) 8 1
4

 d) 8 2
3

 58. KqO SrLUmy]R£ v]ñ}¡¹U 240 cm2 BeV. cpYesOWt]¤ KÐV 16 Ry£}o}ãrLeV. 

oRãLqO cpYe¤ WRº¾OW.

 A) 20 cm B) 30 cm C) 40 cm d) 50 cm

 59. fLRuÕrpOÐ n]ÐqPk°t]¤ JfLeV JãvOU R\rOfV ?

 A) 
11
9

 B) 
11
7

 C) 
11
10

 d) 
11
6

 60. KqL¥ 784 qPkàV KqO yLijU vL°]. Af]¤ GST 12% D¥RÕaOÐO. GST   

S\¡¨OÐf]jV oOÒV yLij°tORa v]s INfpLp]qOÐO ?

 A) Rs. 680 B) Rs. 690 C) Rs. 700 d) Rs. 710

 61. KqO SWLc]¤ CORNER IÐfV GSVRIV IÐLeV IuOf]p]q]¨OÐfV. B SWLc]¤ 

CENTRAl IÐV I°Rj IuOfLU ?

 A) dFOUSBm   B) GIRXVEP

 C) GNFJKER   d) CvRpLÐOosæ
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62. If Q denotes +, J denotes ×, T denotes – and K denotes ÷, then 26K2Q3J6T4 = ?

A) 10 B) 28 C) 30 d) 27

63. Find the odd man out in 396, 462, 572, 427, 671, 264.

A) 396 B) 427 C) 671 d) 264

64. Find the missing number in the series :

3, 6, 11, 18, 27, ______, 51.

A) 35 B) 36 C) 37 d) 38

65. If the minute’s hand and second’s hand of a clock are 25 minutes apart. What will 

be the angle formed between them ?

A) 110° B) 120° C) 135° d) 150°

66. A’s son B is married to C whose sister d is married to E, who is the brother of B. 

How C is related to E ?

A) Sister-in-law B) Sister C) daughter d) Cousin

67. If 1st October is Sunday, then 1st November will be 

A) Wednesday B) Friday C) Sunday d) monday

68. K is 40 m South-West of l. If m is 40 m South-East of l, then m is in which direction 

of K ?

A) West B) East C) North d) South

69. Select the word that has same relation as the word pair below.

Coif : Hair : : __________ : musical

A) Shower B) Praise C) Close d) Score

70. Find the value of 3 1
6

4 1
2

2 2
3

111
12

+ − − .

A)
17
12

B)
15
12

C) 
37
12

d) 
31
12
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62. Q yP\]Õ]¨OÐfV +, J yP\]Õ]¨OÐfV  ×, T yP\]Õ]¨OÐfV  –, K yP\]Õ]¨OÐfV  ÷, 

A°RjRpË]¤ 26K2Q3J6T4 = ?

A) 10 B) 28 C) 30 d) 27

63. WPŸ¾]¤ S\qL¾fV WRº¾OW. 396, 462, 572, 427, 671, 264.

A) 396 B) 427 C) 671 d) 264

64. fLRu fÐ]q]¨OÐ Sèe]p]¤ v]ŸOSkLp yUX| WRº¾OW.

3, 6, 11, 18, 27, ______, 51.

A) 35 B) 36 C) 37 d) 38

65. SWææL¨]R£ o]j]ãV yP\]pOU Ry¨¢cV yP\]pOU fÚ]¤ 25 o]j]ãV v|f|LyU BReË]¤ 

Av¨]ap]¤ qPkRÕaOÐ SWL¦ IÍLp]q]¨OU ?

A) 110° B) 120° C) 135° d) 150°

66. A pORa oW¢ B, C Rp v]vLzU Wu]\ÿO, AvtORa ySzLhq] d, E Rp v]vLzU Wu]\ÿO, 

B pORa ySzLhq¢ BeV  E. A°RjpLReË]¤ C I°Rj E pOoLp] mÌRÕŸ]q]̈ OÐO ?

A) jL¾P¢ B) ySzLhq] C) oW¥ d) Wy]¢

67. KSW›Lm¡ 1 `LprLuV\ BReË]¤ jvUm¡ 1 JfV h]vyoLp]q]¨OU ? 

A) mOi¢ B) Rvç] C) `Lp¡ d) f]Ë¥

68. K IÐfV l&¤ j]ÐV 40 o}ã¡ Rf¨V&ka]´LrV BeV. m IÐfV l&R£ Rf¨V&W]u¨V 

40 o}ã¡ BReË]¤, K pORa JfV h]wp]sLeV m ?

A) ka]´LrV B) W]u¨V C) va¨V d) Rf¨V

69. fLRu RWLaO¾ S^La]p]¤ j]ÐV yoLjoLp mÌoOç vL¨V f]qR´aO¨OW.

Coif : Hair : : __________ : musical

A) Shower B) Praise

C) Close d) Score

70. 3 1
6

4 1
2

2 2
3

111
12

+ − − R£ v]s WLeOW.

A)
17
12

B)
15
12

C) 
37
12

d) 
31
12
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71. Identify the type of sentence given below :

How strange she looks !
A) Interrogative sentence B) declarative sentence
C) Imperative sentence d) Exclamatory sentence

72. The driver in that bus ____________ like your brother.
A) looks B) looked C) look d) is looking

73. did Alan get __________________ job he applied for ?
A) a B) an
C) the d) none of the above

74. Use the appropriate question tag :

She has never seen him, ________________
A) hasn’t she ? B) haven’t she ?
C) has she ? d) have she ?

75. Choose the correct tense form :

She _________ __________ him before you introduced them.
A) has met B) had met
C) have met d) was meeting

76. “Rose is the most beautiful flower” is an example of ______________ degree of 
comparison.
A) Superlative B) Negative
C) Positive d) Comparative

77. Choose the correct preposition :

Amit waited for her _____________ the entrance.
A)  at B) on C) in d) over

78. The baby __________ want to drink milk. He wants to sleep instead.
A) isn’t B) wasn’t C) doesn’t d) hasn’t

79. Correct the following sentence :

The old woman has slept for twelve hours last night.
A) was sleeping B) is sleeping
C) slept d) no change

80. The tank has _______________ water but not enough to water the plants in the 
garden.
A) a little B) little C) few d) very few
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81. Choose the synonym of the word ‘woe’ from the following words.

A) distress  B) candid C) childish d) illusion

82. Which of the following word is an antonym of the word ‘mad’ ?

A) descent B) reveal

C) sane d) rigid

83. The phrasal verb, ‘beef up’ means

A) To add something B) To make something bigger

C) To keep quiet d) To distribute equal

84. Choose the suitable collective noun.

A _______________ of fish.

A) company B) bevy

C) school d) bundle

85. Find out the correct spelling of the word.

A) Encyclopaedia B) Encyclopaediya

C) Ensyclopaedia d) Encyclopeedia

86. Idiom ‘Go on a wild goose chase’ means 

A) To do something pointless  B) Ignore someone

C) Close association d) Talk incessantly

87. What does the word, ‘Ad hoc’ mean ?

A) From the beginning  B) For a specified purpose

C) Adding something to your talk d) Change of attitude

88. Study of mountains is termed as

A) Ornithology B) Pathology

C) Orology d) Genocide

89. Find the word that best fits into the blank space.

Ann ____________________ a sum of Rs. 500 out of the bank every weekend.

A) extracts B) draws

C) obtains d) pulls

90. Out of the given words, one word is misspelt. Find the misspelt word.

A) outright B) othering

C) omlette d) offspring
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 91. fLRu RWLaO¾]q]¨OÐvp]¤ jh]pORa kq|LpSofV ? 

 A) fa]j]   

 B) ft]oU 

 C) RRyWfU   

 d) fs]jU

 92. v]kq}fkhRouOfOW – \µsU 

 A) y\µsU   

 B) A\µsU 

 C) yµ]fU   

 d) \µsf

 93. k]q]R\ÿuOfOW – D½ 

 A) D¥ + o   

 B) D¦ + o 

 C) D + ¦o   

 d) DeV + o

 94. wq]pLp khSofV ? 

 A) j]êpU   

 B) j]\ÿpU 

 C) j]épU   

 d) j]±pU

 95. yoLj khSofV ? – Cj¢ 

 A) WLãV   

 B) f} 

 C) Rvp]¤   

 d) yPq|¢
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96. Rfã]sæL¾ vLW|SofV ? 

A) jÎ] SqXRÕaO¾OÐO  

B) jÎ] krpOÐO 

C) jÎ] fqOÐO   

d) jÎ] vL°OÐO

97. S\ã]¤ WO¾]p RRW S\Lã]¤ WO¾LU IÐ kuRµLsæV A¡ÀoL¨OÐRfÍV ? 

A) BSpLij WspORa kq]w}sjU 

B) BqLijpORa NkLiLj|U 

C) v]tv]R£ yoQÈ] 

d) Ai~Lj¾]R£ ozf~U

98. As the seed so the sprout – kq]nLxRpÍV ? 

A) v]f\ÿfO RWLáOU   

B) YOeU v]¾]sr]pLU 

C) v]¾O YOeU k¾O YOeU   

d) v]fàOÐvjOSºL RWLf]àOÐO

99. S\¡R¾uOfOW – C + A¥

A) Cf¥   

B) Cv¥ 

C) CfV   

d) CpL¥

100. WOtU SWLq] – RRws]pORa A¡ÀRoÍV ?  

A) SoLa] k]a]Õ]¨OW  

B) Ai~Lj]¨OW 

C) jÐL¨OW   

d) jw]Õ]¨OW
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a
           

S\Lh|°tORa BRW I¹U : 100 yopU : 75 o]j]ŸV 

  kqoLvi] oL¡¨V  : 100

S\Lh|kOñW
AƒqSWLcV

S\
Lh
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Oñ

W
 NW

o
j

Ò
¡

         DSh|LYL¡À]W¥¨Oç j]¡SÇw°¥

1. S\Lh|  WasLôV j¤WOÐfV S\Lh| kOñW qPk¾]sLeV. a, B, c, d IÐ} jLsV Aƒq SWLcOWt]sOç 
S\Lh| kOñW°tLeV j¤WOÐfV.

2. S\Lh| kOñW¾]R£ oOWt]¤ CafV vw¾V NkSf|W SWLt¾]¤ S\Lh|kOñW Aƒq SWLcV Aˆa]̂ ]ŸOºV.

3. KLSqL DSh|LYL¡À]¨OU j¤W]p]ŸOç S\Lh|kOñW Aƒq SWLcV AvqORa kq}ƒL zLt]Rs Cq]Õ]
a¾]¤ SqXRÕaO¾]p]q]¨OU.

4. j]°¥¨jOvh]ˆ]q]¨OÐ Aƒq SWLc]¤ j]ÐOU v|f|ñoLp SWLc]sOç S\Lh|kOñWoLeV 
sn]¨OÐRfË]¤ AfV Daja] C¢v]^]SsãrORa èÈp]¤RÕaOS¾ºfLeV.

5. S\Lh|kOñW NWojÒ¡ kOrU \ŸpORa vsfOvw¾V oOWtã¾Lp] S\¡¾]ŸOºV. NWojÒ¡ CŠL¾  
S\Lh|kOñWoLeV j]°¥ V̈ sn]¨OÐRfË]¤ ASf Aƒq SWLc]sOç S\Lh|kOñWU oLã] vL°OW.

6. S\Lh| kOñWU vsfO oL¡^]j]¤ oÈ|nLY¾Lp] y}¤ R\pÅ]q]¨OU. D¾qRouOfLjOç AjOof]   
sn]ˆLsŠLRf S\Lh| kOñWU fOr¨L¢ kLa]Š.

7. kq}ƒ fOa°]pLsOa¢ DSh|LYL¡À] fj] V̈ sn]ˆ]q]¨OÐ S\Lh| kOñW¾]¤ 100  S\Lh|°tOU NWooLp] 
DSºL IÐV kq]SwLi]S¨ºfLeV. S\Lh| kOñW¾]¤ Aˆa]¨L¾SfL, W}r]pSfL, v]ŸOSkLpSfL 
Bp Sk^OW¥ DºLW]Š; AgvL DRºË]¤ A¨Lq|U C¢v]^]SsãrORa èÈp]¤ RWLºOvq]WpOU 
ASf Aƒq SWLc]sOç kP¡¹oLp S\Lh| kOñWU oLã] vL°OWpOU R\SáºfLeV. CfV JãvOU 
NkiLjRÕŸfLeV.

8. CT S\Lh|SkÕr]Rs 1 oOf¤ 70 vRqpOç S\Lh|°¥ CUYæ}x]sOU KTSh|LY]W nLxp]sOU (ospLtU)
Bp] A\ÿa]\ÿ]q]¨OÐO. CT S\Lh|°tORa A¡ÀU, f¡²o IÐ]v yUmÌ]\ÿ yUwp°¥ V̈ CUYæ}xV 
oLi|o¾]sOç S\Lh|°tLeV BiLqoL¨OÐfV.

9. S\Lh| kOñW¾]R£ AvyLj Sk^]jO RfLŸOoO¢kV KÐOU IuOfL¾ qºV Sk^OW¥ S\¡¾]ŸOºV. CfV 
D¾qU WºOk]a]¨OÐf]jOç  WOr]ÕOW¥¨Lp] DkSpLY]¨LvOÐfLeV.

10. D¾q°¥ SqXRÕaO¾L¢ BqUn]¨OÐf]jV oOÒV D¾q¨asLy]R£ orOkOr¾Oç j]¡SÇw°¥ 
èÈLkP¡‹U vLp]¨OW.

11. wq]pO¾qU D¥RÕRa KLSqL S\Lh|¾]jOU (a), (B), (c), (d) IÐ jLsV D¾q°¥ fÐ]q]¨OU. wq]
pO¾qU RfqR´aO¾V K. IU. B¡. D¾q¨asLy]¤ mÌRÕŸ S\Lh| jÒr]jV SjRqpOç wq]pO¾qU 
yP\]Õ]¨OÐ WOo]t (mm]¥) oLNfU j}sSpL WrOSÕL mL¥ SkLp]£V Skj DkSpLY]ˆV WrOÕ]¨OW.

12. KLSqL wq]pO¾q¾]jOU KqO oL¡¨V sn]¨OWpOU KLSqL RfãO¾q¾]jOU 1/3 oL¡¨V jìoLvOWpOU 
 R\áOU. D¾qU SqXRÕaO¾L¾ S\Lh|°¥¨V oL¡¨V jìoLvOWp]Š.

13. kq}ƒL yopU Wu]pOÐf]jV oOSÒL, D¾q¨asLyV C¢v]̂ ]SsãRr J¤Õ]̈ LRfSpL KqO DSh|LYL¡À]pOU 
kq}ƒLzL¥ v]ŸV kOr¾OSkLWL¢ kLa]Š.

14. j]¡SÇw°¥ W¡wjoLp] kLs]S¨ºfLeV. kq}ƒp]¤ NWoS¨aV ja¾OWSpL Af]jOç èoU  
ja¾OWSpL R\áOÐ DSh|LYL¡À]WRt ASpLY|qLp] NkX|Lk]¨OÐfLeV.
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